Words by
HAL DAVID

Single - Manual
8", 4', 2", 111
Vibrato: On

(There?’)
RAlways sromething there
to remind me

SUGGESTED REGISTRATIONS

General Electronic and Pipe Organs

Upper: Diapason 8' Trumpet 8'

Music by
BURT BACHARACH

Drawbar Organs

Upper: 00 8665 220

Lower: Flute 8', 4' Lower: (00) 6554 000 (0)
Play: Upper and Lower Pedal: 8 Pedal: 5-(3)
Bossa Nova beat Vibrato: On Vibrato: On
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I walk a - |long the ci - ty |[streets you used to  |walk a - long_with me; __
mf When shad-ows fall I passthe |small oca- féwhere| we would dance. at night;.
If youshould [find you missthe |sweet and ten-der |love we used_ to share;.
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—_ And ev-'ry step I take re calls how much_ in
—_— And I ocan't help re-call-ing how it felt __ to
—_ Just come back to the plac-es where we used __ +to
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love we used_ to be._| _
kiss and hold_ you tight.__ Oh,how can I for -|get you, ____ When there is
go and I'll__ be there._ o~
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al-ways some-thing there. to re-mind me;
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Al-ways some-thing there
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to re-mind me.
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I was
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to |love you
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e— And 1 will er be [free, Youll al-ways be a of me. __{__ Wo_ wo__
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